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1.

Review Section 18.1-18.5 sheet 3

Given the reaction: 47+ K- 3M + N +5D is endothermic.
Predict the shift in equilibrium when the following changes are imposed

a. Addition of N e ot
b. Decrease the amount of K D) Lch !
c. Increase pressure C) L4+
d. Inc temperature d) right
e. Add a catalyst ) no shifl abw_l_imun(,
f. Write the equilibrium law for the reaction :".) K q - [ M1 L.\JJCD_]
LJ4LK]
. Given the reaction: : 4NHi(; + 50z, «» 4NO(,) + 6H:20 () is exothermic.
Predict the shift in equilibrium when the following changes are imposed
a. Addition of oxygen a) rwfji"l.* 4) y]( (35) (u M)
b. Decrease the amount of NHi(y b) e (()Oiﬁ)"‘(o 1"
c. Decrease pressure C) right B
d. Dec temperature a/ r"ijhf{ g
SA + C) no Shi+t In €Y UL
e dc.iacatalysH . &) ke woftrr 0
f. Write the equilibrium law for the reaction. B Cura] 1 (0,75
g. Given the following concentrations are founf in a IL solution : [NH3] = 0.03 mol

[02] =011 mol ; [NO]=0.25mol : [H:0]= 0.14mol
Determine the value of Keq. Does the reaction favor the products or
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3. Given the reaction: : AL(CO:)i > 2AI g + 3C0% ()
Predict the shift in equilibrium when the following changes are imposed

a. Addition of Aly(S04): @) Lt
b. Decrease the amount of COs" (h) Sugn / i
¢. What does the addition of a catalyst do to the activation energy? (C) Lewe 1he #E
d. Addition of FeS ﬁn"’ ) 2 f_fh:m_gj«i/’ .
e. Write the equilibrium law for the reaction. €) kap - (A ﬁfj?[(‘gjf
f. Write the solubility product expression, how does it differ from Keq =
Ksp &'-?'LtLJ enchacleis’ LP4ifleceld ((Lend LA Jr.afc'ﬁ?)l]
4. Which substance 1s more sciuble in waier uT__‘.?_::]_;g_.________ b 8] H"-‘P - ff;. I}rj Tcogljj
a. Aluminum hydroxide or ‘Calcium hydroxide? Why?~ 5
Ksp = 3.0 x 10 \_Ksp=z 65x10* B,
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Solve for k 0.03: A (0.35)2(0.7@7
A A
P 1999 <k M

qi Lu‘é;\ ’I{—

)

1995 & /o,gmi@f)?‘
L5165 & ¢

(Al

,ﬂemf,s 0.27=- 4 (0.7531[0.70)7
[.999 = Ic
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